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Liquid helium can reduce the temperature of the coil in MRI equipment to around 

(A) 40 K '1Jll" 4 K 

(C) 273 K (D) 0°C 

~IJQJ ~6lS'l1Utb, c!lirr.ffi~ ~~~m66l.j i.SltbuLDrr6>a;Q> s;@~uSlQr Bi@mlQr QQJuu,!£1m@m1U ------

6l.l61>1J ®61>JDIU.9= Q6uJl1..jLD. 

(A) 40 K 

(C) 273 K 

(B) 4 K 

(D) 0°C 

2. Which of the following statements is/are correct? 

3. 

0 

1. A fuse wire is made of 37% lead and 63% tin 

2. A fuse wire is made of 63% lead and 37% tin 

3. A fuse wire has high resistance and low melting point 

4. A fuse wire has low resistance and high melting point 

(A) 1, 4 are correct statements 

;pt" 1, 3 are correct statements 

(B) 2, 3 are correct statements 

(D) 2, 4 are correct statements 

£w6>c!lirr~tb 8i1..Ji>~a;Qfl6\> 6rfl1Urrm 8il..JD~B>m 1Urr~/1Urrm6l.J? 

1. uSlQr SL(!9£6> c!liLDt.5luSlQ> 37% c!lirT"IULD, 63% FFIULD ILmQT~ 

2. uSlQr SL(!9518i c!litbt.5luSl6\> 63% s;rr"IULD, 37% FFIULD SL6'rm~ 

3. uSlQr SL(!!)£.$ a;tbt.51 c:!91~5 uSlQr~Q>LlljtO, ®61>JD.ffi~ SL®®.ffil61>Q)l1..jLD ILQ>LIU~ 

4. uSlQr SL(!!)£.$ c!litOi.Sl ®61>JD.ffi~ uSlQr~Q>Lll..jtO, c:!91~5 SL@®.ffilQ>Q)ll..jtO ILQ>LIU~ 

(A) 1, 4 4£1Um 6rfl1Urrm BnJDg)IB>m 

(C) 1. 3 4£1Um 6rfllLirrm snJi>wia;m 

Which is the world's largest desert? 

(A) Arabian 

(C) Great Victoria 

SLQ)£m QurflUJ urrmQ)6l.Jmti:> ~~? 

(A) c:!9!C:17t.5lUJm urrmQ)6l.Jmti:> 

(C) £C:1Jl... 6'618iC:Lrrrfl1Urr 

3 

(B) 2, 3 4.$l1UQT e:rfllUrTQT BnJDg)lc!li6'r 

(D) 2, 4 4£1Um 6rflUJrrm c!lil.JDg)lc!li6'r 

/sahara 

(D) Thar 

(B) 6c!li1Tf11T 

(D) ~rrir urrmQ>6l.Jmtb 
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4. Which of the following excretory products are sent out as urine by kidneys in humanbei9? 

(A) Excess water and salt 

(B) Carbon dioxide and water vapour 

~ Urea, uric acid, creatinine 

(D) Oxygen and excess carbon dioxide 

LDQfl~Qflm il!!,)l.ffifla;L.O e!JlQ)LDrra; il!!,)l.ffirflru QQJm!ClUWJi.b <$~61.Ju Gurr@L-a;m lUITQ'lQJ? 

5. 

(A) c:!9j~a;LDrrm .mrr LD!i>!!,)IL.O ~u4a;m 

(B) a;rrirum-Q)L-~.$Q'l61\)@, .mrr ~6lS'IUJrr~ru 

(C) ~ITlUJrr, ~ITl.$ c:!91uSlrut.O . .$lrflUJrrL-~Qflm 

(D) ~B;Q1$l~m LD!i>!!,)11.b c:!91~a; a;rrirum-Q)L-~.$Q)61\)@ 

Identify the wrong pair : 

Traveller Country 

(i) Than Battuda Moraco 

(ii) Domingo Paes Portugal 

(iii) Abdul Razak Persia 

(iv) Nichalo di kondi Portugal 

(A) (ii), (i) and (iv) (B) 

(C) (i) and (iv) ?' 
LS)QrQJ(!!jQJ68TQJlDg)IQr ""~ a:ITlUJITB; GUIT(!!)Jblh6lS'IQ)Q)Q)? 

UUJEmfl Sf>IT@ 

(i) ~um urr~lhrr Q lD ITl]IT .!;{!a;rr 

(ii) C:LrruSlri.JCa;rr UUJW Currir~Q) 

(iii) c:!9I Li~ Q> '7 B'IT .$ UITl].fa;L.0 

(iv) .ffil.$<!a;ITCIDrr ~ Ca;rrQar~ - Cu rrir 8:6,B;a;Q) 

(A) (ii), (i) LDlDWLD (iv) (B) 

(C) (i) LD!i>WL.0 (iv) (D) 

TGS/16 4 
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(iv) only 

(iii), (i) LDlDg)ILD (ii) 
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6. Green Revolution increases the food grains production in 

rJil" Rice and wheat 

7. 

(B) Wheat and oil seeds 

(C) Rice and oil seeds 

(D) Rice and sugarcane 

(A) c!)lrf!fil. C:a;rr~Q>LD 

(B) {:a;rr~Q>LD, Gil"QfarQ~li..J 6lSlp;~.ta;6if 

(C) c!)liflfil LD!i>rotl.b gQfarQ~li..J 61Slp;~.ta;m 

(D) c!)lrflfil, Bi(!9LD4 

Two taps can fill a tank in 30 minutes and 40 minutes. Another tap can empty it in 

24 minutes. If the tank is empty and all the three taps are kept open, in how much time the 

tank will be filled? 

(A) .!.hour 
2 

(B) 2hour (C) lthour vi lhour 

f;}® Gp;rrL...~mUJ @~ ®wrrli..Ja;m p;6llfl~p;6llflC:UJ @"'JDC:lU 30 ~uSlui.la;m, 40 .ffiluSl~a;QflQ> ~11u4~m!D~· 

LDJi>GJDrr® ®wrrli..J ~ir Jbllfl.bi51UJ Gp;rrL.~mtU 24 .@uSlui.la;QflQ> a;rrrol Gs=li..Ju..jl.b. Q~rrL.~ a;rrroltUrra; @®.ffi§ 

@Lb(!PQr{!)I ®WrTli..Jaif8LD tj)C:I}" B'LDIUUJQ> ~JDfe~ 61SlLuuL.LrrQ>, c!)lp;Gp;rrL.~ Gir~p>Q)QST .@uSlLffila;QflQ) 

.@11Lb4Lb? 

(A) (B) 2 LD~ (C) 1.1 LD~ 
2 

(D) 1 LD~ 

8. 40% of 1640 + ? = 35% of 980 + 150% of 850 

Jiii' 962 (B) 692 (C) 926 

1640 @m 40% + ? = 980 @m 35% + 850 @m 150% 

(A) 962 (B) 692 (C) 926 

0 5 

(D) 629 

(D) 629 
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9. Which article of the constitution grants rights to minorities to establish educati& 

(A) 40 ""30 (C) 50 (D) 60 

institutions? 

Grfr>~ ~f)ilUJQ)Q)LDUY LSlrflQj ilgllUrTQrQ>L.OuSlmir a;Q)6lS] .ffilwiQJmr&Ja;Q>QT Jbl®QJ£8i®t.0 :LrflQ>LD ~6tfl8i£!!)~? 

(A) 40 (B) 30 (C) 50 (D) 60 

10. The greatest number of 4 digits which is divisible by 20, 25, 40 and 75 is 

(A) 9600 jllf' 3000 (C) 9800 (D) 8540 

GTEiliara;m 20, 25, 40 LD!i>!!)Jt.O 75 ~ru QJ®u@t.O t.6la;uGurfltU p;rrQ-r® @Q)Sia; ~Eiliar 

(A) 9600 (B) 3000 (C) 9800 (D) 8540 

11. F. d h . . b 1 x 3 
m t e InlBSmg num ers - = - = -

4 20 y 

~ x=5;y=12 (B) X=5;y=5 (C) x=12;y=5 (D) x=12; y =12 

6lSl@ • • . . 1 x 3 
LILL ~Q5Ta;Q>QTa; a;rrQ5Ta; - = - = -

4 20 y 

(A) x=5; y =12 (B) x=5;y=5 (C) x=12;y=5 (D) x =12; y =12 

12. In a village of 1,21,000 people, the ratio of men to women is 6:5. The number of men 

(A) 33,000 j1!' 66,000 (C) 55,000 (D) 44,000 

13. 

~® £1JrrLDP>~Q-r LOSia;l...G~rrQ>a; 1,21,000. ~Eiliar. GuEiliara;6tflQ-r 6lS1£~t.O 6:5 ~~ru ~~ru :Lmro 
~Eiliar a;6tfl Qr GTEiliaTQR!fl 8;Q>a; 

(A) 33,000 (B) 66,000 (C) 55,000 (D) 44,000 

L.C.M. of a\ak+a,ak+s for all k e N is 

(A) ak+a 

(A) ak+s 
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14, Find out the wrong number in the sequence 

156, 168, 182, 208 

~68 (A) 156 (C) 182 (D) 208 

156, 168, 182, 208 ~rou~Q.i Gurr@Jtp;rrp; ~~ 

(A) 156 (B) 168 (C) 182 (D) 208 

15. Find the next number in the following series 

~13,26,29 
58 (B) 32 (C) 52 (p) 68 

L51QrQJ(!91.b Gp;rruflQ.i ~@~~ Ql(!91.b ~~m6m c!l>rT~c!I>. 

5, 10, 13, 26, 29 
(A) 58 (B) 32 (C) 52 (D) 68 

16. The product of three number with the ratio 1:2:3 is 750 then the sum of their squares is 

, 350 (B) 600 (C) 450 (D) 400 

ey>rog)l ~~c$61flQr Gu@.S®P> G~rrmc!i> 750 ..!9fQ)6l.Jc$61flQr 661£~1.b 1:2:3 ~6Uflru ~QiGQJ~a;61flQr 

6l.Jir.$c!i>rlil8i61flQr &1.@p;ru 

(A) 350 (B) 600 (C) 450 (D) 400 

17. The total surface area of a solid hemis.pbere of a diameter 2 cm is equal to 

(A) 12 cm2 (B) 12,. cm2 

(C) 4,. cm2 jJl1' 3,. cm2 

~® ~~LD ~ml}' CBirrmp;~ro 661LLLh 2 Gc!UD ~6Uflru ..!9f~Qr GLDrrP,~ 4!DLIUIJ'LI4 

(A) 12 Gs:.t.02 (B) 12,. Gs:.t.02 

(C) 4,. Gs:.t.02 (D) 37r Qs:.t.02 

18. The radius and height of cylinder and cone are equal. If the volume of cylinder is 120 ems, 
then the volume of cone is 

(A) 90 ems ~ 40 ems (C) 30 ems (D) 100 ems 

~@ &1.Lb4 LDJDJ:Pfl.b f2....(!96W>61TuS1Qr ~l}'QPl.b 12....lUl}'QPL.b QP6W>jDC:UJ 6LDl.b. f2....(!9Q>61TuS1Qr c!l>m ~61TQ4 120 Qs:.LDS. 
~6Ufl6i> Sil.LhLSlro c!l>m ~m-614 
(A) 90 Qs:.t.Os (B) 40 Gs:.t.Os (C) 30 Qe:.t.Os (D) 100 Qs:.t.Os 
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19. The President of India is elected indirectly by an electoral college. Which of the follm.1g 
members are not included in electoral college? 

20. 

(A) Elected members of Lok Sabha 

(B) Elected members of Rajya Sabha 

~Elected members of Assemblies in Union Territories 

(D) Elected members of State Assemblies . 

@.ffi~lU ®~lLIIJ"Br~ p>~ruruir LDQl!J)(1:P6itorra; C~irrurrmrr ®@ e!f>rut.O Cp>ir.ffiGP>@6;.$lmG!J)rrt.O. Cp;irQJrrmrr 
®@~Iii> t5lmru®t.0 ~.ffiP> fLIDJLit.Slmrra;m a;ru.ffi~ Ga;rrmQJ~Q>mQ>? 

(A) CP>rr.ffiGP>@6;a;uuL..L to6;a;m-Q)QJ fLIDJLit5lmrra;m 

(B) CP>IT.ffiGp;@6;a;uuL..L torr.@ruffila;mmQJ ~wiut.Slmira;m 

(C) ~rr.ffiGP>@6;a;uuL..L iy,~lLim t5l!J{!P>6 e:L.Lu Cul]"mQJ fLIDJLit5lmrra;m 

(D) CP>rrJi>Gp;@sa;uuL..L torr.@Q) e:L.Lu Cu17mQJ fLIDJLit5lmira;m 

Match the following: 

(a) Lok Sabha 1. 35 years 
(b) Rajya Sabha 2. 25 years 
(c) Vice President 3. 21 years 
(d) President of Panchayat 4. 30 years 

(a) (b) (c) (d) 
(A) 1 2 3 4 
(B) 4 3 2 1 
(C) 3 1 4 2 ,, 2 4 1 3 

Gurr®~~a;: 

(a) L06;a;mmQJ 1. 35 QJ(!9LLO 

(b) LDrr.@ruffiJa;m-QlQJ 2. 25 QJ@LLD 

(c) ~Q)~ ®~lUIJ"Br~ P>Q)Q)QJrT 3. 21 QJ(!9LLO 

(d) U~8'1TlU~~ p;Q)Q)QJrT 4. 30 QJ(!9LLO 

(a) (b) (c) (d) 
(A) 1 2 3 4 
(B) 4 3 2 1 
(C) 3 1 4 2 
(D) 2 4 1 3 
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21~ · A can complete .!.. part of a work in 20 days. A can complete remaining ~ part of the work 
4 4 

lil 

(A) 10 

(C) 30 

(B) 20 

jllf 60 

A G;T"QrUQJIT ~@ aQJQ)Q)uS)Qr ! Li@j~Q>UJ 20 p>rn.:_a;'1flru Qs:li.J~ QP~Uurrr'r. ~~ aQJQ>Q)uS)Qr ! 
LI@5~Q>UJ A Qs:li.J~ QP~a; ~lb .(bm .. : .. a;'1flm G;rQiarQJGfl.$ma; 

(A) 10 

(C) 30 

(B) 20 

(D) 60 

22. The election of the judges by the legislature is seen in the country of 

(A) England JJllf' Switzerland 

(C) France (D) USA 

,,~U~c$Qr 8'LLLDQr!D~ITru ~frJi>Gp;@.$c$uu@tb QJWMlil P:,Q>L@Q>!DuS)Q) fLQrQT .(blT@ 

(A) @1"6J&IQ)rr.ffi~ (B) 8'6f1L..c!frrQ)rr.ffi~ 

23. Who was the Indian President in between 1967 -69? 

(A) Mr. V.V. Giri 

y' Dr. Zak.hir Hussain 

(C) Dr. S . Radhakrishnan 

(D) Dr. Rajendra Prasad 

1967 Qt>pj'1> 1969 QJQ>I}" @Jb~UJIT~Qr @j~UJl}"8' pjQ>Q>QJl}"IT.$ Upj~ QJ&l~pjQJrT U.JrTrT? 

(A) ~®· V.V. &lift 

(B) Lrr.$Lir. sirr&lrr ~f>m~ 

(C) Lrr.$Lrr. GirW. l}'rr~rr£l@~Ql8Tm 

(D) Lrr.$Lrr. llrrC&!i>~ll t511}"s:rr~ 
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24. Which is the official language of Indian Government? • 
(A) English /jl!(' Hindi 

(C) All Languages (D) English and Hindi 

@fe~UJ ~rJ6rrrlils;P-;~m ~wQJQ)s; GtnrrWl GT~? 

(A) ~rfil.$lQ)Lb (B) @fe~ 

(C) ~Q)~p.;~ GtnrrWls;m (D) ~rliJ.$lQ)Lb LDWWJLD @lb~ 

25. In which amendment unity and integrity of the nation has been added in the preamble of 

the Indian Constitution? 

(A) 43rc1 Amendment 

(B) 4Qth Amendment 

(C) 46th Amendment 

?" 42°d Amendment 

GTPJ~Q)~UJrTQJ~ ~fJ6lUJQ)Q)lDULj ~®PJ~~m uisr. Jf>LD @fe~UJ ~l'JfilUJQ)Q)LDUt51m QPB;~61>rJuSlru 

"@fe~UJrrGlSlm VlWWJ6'>LD LDJDgJJLb Vl®61>tnuurr@" G6fr~s;uul....L~? 

(A) 43 GU~ ~rJfilUJQ)Q>LDLIL! ~®PJ~Lb 

(B) 40 GU~ ~rJfilUJQ)mtnuLI ~®PJ~Lb 

(C) 46 GU~ ~rJfilUJQ)mtnuLI ~®PJ~Lb 

(D) 42 GU~ ~~UJQ)mtnuLI ~®PJ~Lb 

26. According to Dr. Ambedkar, which Article is "the heart and soul of the whole constitution"? 

(A) Article 24 

~Article 32 

(B) Article 23 

(D) Article 42 

(A) GlSl~ 24 (B) QSJ~ 23 

(C) GlSl~ 32 (D) GlSl~ 42 
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2. Speed, Safety and Connectivity (time save) are the three objectives of 

(A) District Roads 

(B) State Highways 

(C) National Highways 

pf Golden Quadrilateral Super Highways 

aQJs;tb, UIT~t!DITUL...j LDd>WJtb afDIJ6 aa:uSlUL...j ~mw (!PmWJ QP.$.$hu a1Drr.$s;l'&Js;QHiTT.$ Gs;rr~L~ 

(A) LDITQJLL 61TQlQ)s;ffi 

(B) LDrr.@Q) GJD@!§a:rr6nQ>s;6Tr 

(C) ~filUJ GfD@!§a:rrQlQ)s;ffi 

(D) ~r&is; Jf>ITrD<!DIJ fil!DLILI GJf>@!§a:rrQlQ)s;ffi 

28. Match List I with List II correctly and select your answer using the codes given below 

List I List II 
(a) Characteristic of Land 1. taking risks 
(b) Characteristic of Labour 2. productive 
(c) Characteristic of Capital 3. mobile 
(d) Characteristic of Organisation 4. fixed.in supply 

(a) (b) (c) (d) 
(A) 4 1 2 3 
(B) 1 3 2 4 

~4 3 2 1 
(D) 2 4 3 1 

uL.llj.UJru I m uL.llj.UJru II SLLm a:nlUJrrs;u Gurr@~~ £wa;®!D)Lit5lL.@ffim ®JDlID@s;61ftm ~llj.Liu6nLuSlru 
a:nlUJrrm 6l516nLQ)U.J~ a~n-6l..I Ga:U:..s; : 

uL.llj.UJru I uL.llj.UJru II 

(a) .@Q)~~m @UJruLI 1. ~lLrrurr@s;QlQT ~d>wru 

(b) LQl~ut5lm @UJrul...j 2. ~M(YlQlLU.J~ 

(c) CY>Q)~m~~m @UJrul...j ·a. @LtbGUUJIJ.$ Bil.llj.UJ~ 

(d) G~rrWJQ)QlLDut5lm @UJruLI 4. ~61ftUL...j .@6nQ)UJITQT~ 

(a) (b) (c) (d) 

(A) 4 1 2 3 
(B) 1 3 ~ 4 
(C) 4 3 2 1 
(D) 2 4 3 1 
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29. The Swadeshi steam navigation company was launched by 

30. 

(A) G. Subramanya Iyer ~ V.O. Chidambaram 

(C) K Kamaraj (D) Rajaji 

a;~ ~11rr~ s;uuQ> s;tbQu61flmUJ G15rrui.J.$lUJQJrr 

(A) ~- BiUl}'LDQlf!UJ ~li.JUJl'r 

(C) K B;ITLDl}'IT~ 

Match the following A with B : 

A 

(a) Swaraj party 

(b) Dandi March 

(c) Poona Pact 

(d) Gandhi Irwin Pact 

(a) (b) (c) (d) 

(A) 1 2 3 4 

(B) 4 3 2 1 

' 
3 4 1 2 

1 2 4 3 

Gurr~s; A ILL'1r B : 

A 

(a) B;UJIJIT~UJ s;L&l 

(b) 15•tq. UJIT~Qll}' 

(c) ~mrr ~uujb15tb 

(d) s;rrjb~-@rr~m 9uujbp;tb 

(a) (b) (c) (d) 

(A) 1 2 3 4 

(B) 4 3 2 1 

(C) 3 4 1 2 

(D) 1 2 4 3 

1. 

2. 

3. 

4. 

1 . . 

2. 

3. 

4. 

B 

(B) QJ .IL. 6Jp;tbUl}'tD 

(D) @11rr~rr~ 

1932 

1931 

1923 

1930 

B 

1932 

1931 

1923 

1930 
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• Which industry is called mother industry? 

(A) Textile industry 

Jlllf' Iron and Steel industry 

$6rni.J~ G$6rr~Q> 6Tm ~Q>~B;a;uu(!jllh Gp;rr~Q> 

(A) GJ!i6~~ Qflirr~Q> 

(C) @@LhL.j 6T.°o(f!;~ Gp;rr~Q) 

32. Agriculture production means 

(B) Cotton industry 

(D) Sugar industry 

(B) LI@~~~ Qfljrr~Q) 

(D) 6ITMQ>I}"~ Gp;rr~Q> 

(A) National total production of agriculture 

~ The ratio between input and output 

(C) The addition of input and output 

(D) All states and union territories total productjon 

<:QJQ"TITmmLO LJi>u~~ 6Tmu~ 

(A) p;rrL..~m GLDrrp;p; G6Umrrm LJDu~ 

(B) Lmm@. G6U61fliOL..@B;®lh Lmm 6l51£1p;lh 

(C) ~mm~ Lmm@. QQJQfliO@a;61flm Bi\.@p;Q> 

(D) ~Q)QT~~ LDrrJblQ), iy,~UJm t5l~6ri.Ja;ilflm GLOrr~fli LJi>u~ 

33. Poverty has been defined as 

(A) 

(B) 

(C) 

JJllf' 

Lack of adequate saving 

Lack of adequate education 

Lack of adequate health 

Lack of adequate income 

GiJWQ>LD 6Tmu~ 

(A) <:urr~LDrrm G6uSlut5lmmLD 

(B) <:urr~LDrrm a;Q>EilSluSlmQ>LD 

(C) <:urr~LOITQT 12....LQ}p;Q)uSlQrQ>LO 

(D) <:urr~LDITQT QJ@lDITQTuSlmQ>LD 
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34. Among the following which didn't refers the Sangam king's court? 

~ Saba (B) Avai 

35. 

(C) Naalavai 

(A) 6Q)LJ 

(C) .corrGTrQlQJ 

(D) Manram 

(B) &!QlQJ 

(D) LDQrJ!)LD 

Match the leaders of the rebellion 1857 : 

(a) Delhi 1. Nanasaheb 

(b) Central India 2. Bahadur Shah 

(c) Lucknow 3. Jansi Rani 

(d) Kanpur 4. Begum Hazarat Mahal 

(a) (b) (c) (d) 

(A) 3 4 2 1 

iJlf 2 3 4 1 

(C) 1 3 2 4 

(D) 4 2 3 1 

1857 L11TL...5lu5lQr ~Q>Q)QJrTaiQ>GTr Gurr@P,~a; 

(a) GLQ>QSl 1. J!)rrQTrr 6rreci.u 

(b) LDP,~UJ ~ji;~UJIT 2. ua;~rr~rr 

(c) Q>~C~m 3. ~rrQr5\ fTIT~ 

(d) ailTQrb:!>rf 4. Cua;Lb ~~'TP, LDa;rrQ) 

(a) (b) (c) (d) 

(A) 3 4 2 1 

(B) 2 3 4 1 

(C) 1 3 2 4 

(D) 4 2 3 1 
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3. 'Johanesburg 2002 United Nations' Conference was on 

37. 

(A) Software development 

(B) Transport development 

(C) Community development 

IJl'I' Sustainable development 

roBi.ihu p;rr@a;Grflm LDrrp;rr@ 2002 @ru a~rra;GQT~u!T8;.$lQ) JDLJbf!i~· @$[>6Ur Gp;rrBia;tb 

(A) GtoQrGurr@rn atotburr@ 

(B) GurrBi®rurr~~ atotburr@ 

(C) e:~s; atotburr@ 

(D) Gu6i!M~ fD®JbfD atotbun:@ 

Indian radio broad casting, which was started? 

ii" 1927 (B) 1937 

1827 (C) 1947 

(A) 1927 

(C) 1947 

(D) 

_(B) 1937 

(D) 1827 

38. The average ocean salinity is 

(A) 34.5 grams per kilogram 

JJ1'I" 35 grams per kilogram 

(C) 36 grams per kilogram 

(D) 16 grams per kilogram 

Gu@ri.la;u;\>a;Grflm e:rrrre:rft f2....rurrt51UJ~~m ~61TrurrQT~ 

(A) 34.5 $lrrrrtb I .$1GQ)rr .$lrrrrtb 

(B) 35 $lrrrrtb I .$1GQ>rr .$1rrrn.D 

(C) 36 .$1rrrrtb I .$1GQ)rr .$1rrrrtb 

(.D) 1~ .$1rrrrtb I $1GQ)rr .$1rrrrtb 
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39. Match the following : 

List I List II 

(a) 24th October 1. Human rights day 

(b) IQth December 2. Common wealth day 

(c) 24th May 3. U.N. Day 

(d) 21st September 4. International day of peace 

(a) (b) (c) (d) 

(A) 2 1 3 4 

(B) 3 4 1 2 -- 3 1 2 4 

(D) 4 1 2 3 

Qurr@~~a; : 

ULtq.tuG> I LILtq.tuG> II 

(a) ~&Gururr 24 1. 1D6nft ~ SLnl QllDc$Qr ~Qlt.0 

(b) tq.c!Jt.i:>U rr 10 2. a;rrlDQIQQJQ)~ ~mt.O 

(c) GlD24 3. tB·Jl>IT ~Qlt.0 

(d) Qc!Juu.burr 21 4. 6rrQJ~6 ~mlD~ ~mt.0 

(a) (b) (c) (d) 

(A) 2 1 3 4 

(B) 3 4 1 2 

(C) 3 1 2 4 

(D) 4 1 2 3 

40. Polyspermy is avoided by the formation of---- membrane around the ovum. 

(A) Follicular membrane 

1'f' Fertilisation membrane 

(A) .°ourr'151.$®Q>rTrr c!JQJQ.j 

(C) c$@66ilQ.j 
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41. ~ an accident a person suffered a serious head injury. What immediate investigative 

method the doctor might prescribe to assess the dlimage? 

(A) WBC count 

(B) Urine analysis 

Jiii!' CT scan 

(D) Biopsy 

6l5lu~Qlrrro Vl® LD6il>'bdl~ >'bQ')Q)uSlru GJ!i>uL..@mm 4u~rrQT a;mu~~JD® Qa:ti.J1Uuu@Lb LLQT~ 

$).$l6Q)a: (!PQ'l!J) '1"~? 

(A) QrumQ'lmlLJ~Mm G;T~~a;Q')a; a;rr~>'bro 

(B) MlI)l,ffiir aarr>'l>Q')QT 

{C) a;LbUl!!:j,LLL aLrraLDrr.$ll}"rrt.S1 ~tife>'brrl}"rrli.J>'bro 

{D) LuSlir~ar ap;rr.9;@) aarr>'bQ'lQT 

42. The smallest and the largest white blood corpuscles are 

(A) Monocyte and Lymphocyte 

(B) Neutrophil and Eosinophil 

(C) Basophil and Lymphocyte 

JI"!' Lymphocyte and Monocyte 

(A) alDrraQTrrQ')ifL LDWgllLD rotL.OaurrQ'lifL 

(B) fell!!:!.L..a1JTTLS1ru LD!i>gi1L.O@a1UrrMa6BTrrt.S1ro 

(C) auaa:rrt.S'lro LDJDjJ)ILD rotL.OaurrQ'l<'fL 

(D) rotL.OaurrQ'lifL LDWlJ)ILD alDrraQTrrQ')<'fL 
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43. Which one of the following is incorrect? 

(a) Atomic Energy Research Institute is located at Bombay. 

(b) Indian Standards Institute is located at New Delhi. 

(c) Central Leather Research Institute is located at Chennai. 

(d) Central Drug Research Institute is located at Bangalore. 

(A) ,, (b) is not correct 

( d) is not correct 

t51Q1'6U(!9QJ611TQJJi>IJ,)J6iT G;r~ ~6UIJ,)J? 

(B) 

(D) 

(a) is not correct 

(c) is not correct 

(a) ~@! ~Ji>!Dro ~1JrrliJ66l Jbla>Q)UJl.b QPl.ba>uuSlro ~6irm~. 

(b) ~/£~UJ p;IJ .ffi)a>Q)UJl.b y~ GLro"'51uSlro ~Q)LOUJu Gu!i>w6ir6TT~ . 

(c) LD~~UJ C::p;rrro 41JrrliJ661 a>LOLUl.b Q6Qr"'muSlro :L6irm~. 

(d) LO~~UJ LD®sf>~ ~l)rrliJ66l a>LDUJl.b Guri.Ja;@!irrlro ~a>LOUJLI Gu!DW16ir6TT~ 

(A) (b) LOL@Lb p;QJ!PJ 

(C) (d) LOL..@tb p;6U!PJ 

(B) (a) LOl...@Lb pj6U!91 

(D) (c) LOl...@Lb pj61Jgll 

44. Rain drop starts to fall down when the velocity of the drop is 

(A) equal to terminal velocity 

fjl{' greater than terminal velocity 

(C) lesser than terminal velocity 

(D) greater than critical velocity 

LDm~~ ~'1fta;6ir £<::~ 661~~ ~QJri.J<§LbC::urr~ ~p;m ~a>c!fCQJa;Lb 

(A) QPJDW~ ~m6C::6Ua;~~!i><§6 6LDl.b 

(B) QPWIJ)I~ ~mc!fCQJa;~a>p; 661L ~~a;Lb 

(C) QPWIJ)I~ ~m6C6Ua;~mp; 661L <§61>!D~ 

(D) LOITg)!Jbla>Q) ~Q>c!fCQJa;~mp; 661L ~~a;Lb 
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45. .range the following element in the order of their increasing atomic weight. 

Na, C, Al, P 

(A) C, Al, Na, P 

(C) Na, C, P, Al 

pl' C, Na, Al, P 

(D) Na, C, Al, P 

£~B>QSorL ~6nf!LOr'&JB>Q>6TT ~~ GTQ>Lu5}Qr 6]'!91 6l.Jlfl61>a:u5JQ> GT@~B>. 

Na, C, Al, P 

(A) C, Al, Na, P 

(C) Na, C, P, Al 

46. Conside.r the following statements : 

(B) C, Na, Al, P 

(D) Na, C, Al, P 

I. Acid solutions turn blue litmus paper red. 

II. Acid solutions does not conduct electricity. 

III. Acid furnishes H+ ions when dissolved in water. 

Which of the statement(s) is/are correct? 

(A) I only 

<jll' I and III 

(B) I and II 

(D) II only 

I. 

IL 

~uS)Q)6; B>Q>l]"a=Q> ~Q) 661L...LD6fu ~IT61>6TT filQ.JLIUITB> LDITtD!PftD. 

~uSlQ)B; B>Q>l]"a=Q> uSlQia=rr1JP,Q>~6; B>Lp;~rr~. 

III. 

(A) I LDL@tD 

(C) I LDtDglllD III 

19 

(B) I LDtD!Pf LD II 

(D) II LOL@tb 
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47. Which are the common methods involved in the desalination of ocean water? • (A) Solvent extraction and crystallisation 

(B) ~ublimation and distillation 

, Evaporation and recondensation 

(D) Fractional distillation and steam distillation 

s;Lro Jtrflmm, ®~Jt11rrs; LDrr!i>g11Lb Q~rrW1rol9JLLI~~ro ulUQru@Lb Gurr§QJITm Qa:u'...JQPm!Ds;ilr 1Urrm6U? 

48. 

(A) c$Eil>l}'l.JUITQr @!D8;8ilb LDW!!)ILD U~c$LOIT8;@:i~Q) 

(B) u~ri.Jc5LOIT$f>Q> LDJDJ);llLD QJITQ'lQ)QJWQ) 

(C) 46fil1Urr$Dro LD!f>giilb t.S•@Lb ®Glflri"6fil~ro 

(D) LSlQrm QJITQ)Q)QJ~~Q) LDlDg)ILD ~1JIT6fil1Urrru QJITQ)Q)QJ~~ru 

Bio~stics are obtained from 

~ Corn starch, potatoes, vegetable fats and oils 

(B) High density polyethylene, low density polyethylene 

(C) Polypropylene, polyvinyl chloride 

(D) 1,3-butadiene, acrylonitrile 

LuS1rfl tSlmrrw~S;@:i8iQr $f)lUITrfluu UlUQru@Lb (!PQ)UQUIT(!9L8iQr 

(A) CHrrm L.Drr~. IL@61>QT.$£~ri.J@:i. ~ITQJIJ 6TQarQQIBTw LDJDJ);llLD Qs;rr~ul..j 

(B) ~~s; ~Lrr~ urrQS\6T~'6Qr, @:i6f>!D ~Lr'r~ urrQS\6T~'6Qr 

(C) urrQS!LjQ1JrrutSl'6Qr, urrQS\6filQ'lmQ) @:i<:mrra>g@ 

(D) 1, 3- tSliy,LLITQ'lLuJQr, ~S;rfl(:Q)ITQ'l,IJ)LQ'llJQ) 

49. Which one of the following is the hardest substance in our body? 

Jl'f Enamel coating of teeth (B) Bone~ 
(C) Tongue (D) Brain 

£wS;a;rrmuQJJi>rJ5lru ,IJ)LD§ LLLbLSlro 8ilTQIBTUU@Lb uSlu 8i~61Tl.OIT611' LJ);llUL..j lUIT§? 

(A) uJi>a;'1flro Liirm 6TmrrLDro 6TQrft)ILD uLQ)Lb (B) 6T~LbL1s;ilr 

(C) p;rrS;@:i (D) (!PQ>QT 
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50. ~ch one of the following cities is "First Corporation of India"? 

(A) Delhi (New Delhi) (B) Calcutta (Kolkotta) 

(C) Bombay (Mumbai) pf Madras (Chennai) 

.«~~s;rr~Lb JliS>rJTi.1s;Qflru GT~ "@.ffi~UJrr~Qr @,,ru @~61L.ruru s;rrfruuGQ"~Qr"? 

(A) GLrurol (LI~ iq.rurol) (B) s;rus;~,,rr (Qs;rrruGs;rr~,,rr) 

(C) utbumi.J (@Lbmu) (D) LD"Q"rr6iu (Qs:Qrmm) 

51. Consider the following statements. 

Assertion (A) : Human is a good conductor. 

Reason (R) : Our body is made of 70% water with dissolved substances. 

Select your answer according to the coding scheme given below. 

Jill" Both (A) and (R) are true and (R) is the correct explanat.10n of (A) 

(B) Both (A) and (R) are true and (R) is not correct explanation of (A) 

(C) (A) is true but (R) is false 

(D) (A) is false but (R) is true 

8il.JD WI (A) 

8irTl}"Em"LD (R) : JlilD~ ~Lru 70% P,fr LDWgllLD ~~ru 8i6'>flJi&iJ~61T uruGruwi Gurr(!9L8iQTrTQl ~QT~. 

s:rrlUJrrm 66lmLmUJ~ G,,rijQ,,@. 

(A) (A) LD!iJ©ttb (R) s:rrl , (R) GTQru~ (A)-661Ji>® s:rrlUJrrm 66lm~Lb 

(B) (A) LD!Dgiitb (R) s:rfl LDW!t)ILD (R) GTQru~ (A)-661Ji>® s:rflUJrrm ~mMLb ~Q)Q) 

(C) (A) s:tfl ~mrrru (R) ,,rugii 

(D) (A) ,,rug)! ~mrrQ> (R) s:ifl 

52. Which one of the following test is used to identify AIDS? 

Jiii' ELISA Test (B) APB Test 

(C) ECG Test (D) Screening Test 

(A) GTmQ)e:rr 4ti.JQJ (B) APB ~ti.JQJ 

(C) ECO 4ti.JQJ (D) ~ml}"u.SlLG\> 4ti.JQJ 
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53. Which system is adapted to elect the President of India? 

(A) One Man One Vote 

(B) Plural Voting 

~ Secret Ballot 

(D) Open Ballot 

.@.ffi~hurr6'6lru @iLq-UJfJ~~ ~Q)Q)Gl.JQ)IJ~ G~r'r)iiQ~@d;s; G;rjii~Gl.lrr..i;s;Qfluy (YlQ>.(!) Q)s;UJrrmuu@£1D~? 

(A) ~® JDU®<'i;@i ~® Gl.lfTd;@i 

(B) U~Q>LD QJfT<'i;@i 

(C) fJMlUJ QJJTd;@i 

(D) QQJ61'flLJUQ>LUJfTm QJfTd;@i 

54. Supreme Court Judges retire at the age of 

(A) 62 iJll' 65 (C) 58 (D) 60 

~iHf .ffi~LDQJ-.(!) .ffi~u~s;m 9w~ Guf91t.D Gl.JUJ~ 

(A) 62 (B) 65 (C) 58 (D) 60 

55. Where is situated the Indian Election Commission? 

(A) Mumbai (B) Chennai Sflf New Delhi (D) Kolkatta 

(A) (YlLDQlU 

56. How many members are elected to the Rajya Sabha? 

(A) 530 JJlf" 238 (C) 545 .. (D) 250 

(A) 530 (B) 238 (C) 545 (D) 250 
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57. ~ 50% of (x- y) = 30% of (x + y) then what percent of xis y? 

(A) 20% (B) 24% Jll!f" 25% (D) 23% 

(x- y)-m 50% = (x + y)-m 30% '1"~ru y-@m x 6f>6'5fhiil 

(A) 20% (B) 24% (C) 25% (D) 23% 

58. Who among the following Tamil celebrities has been nominated as an ambassador for 
"Swachh Bharath" by Prime Minister Narendra Modi? 

(A) Surya 

V1f" Kamal Hasan 

(A) ~irUJrr 

(C) s;LDQ)~rrlJQr 

(B) Vishwanathan Anand 

(D) Rajini Kanth 

(B) QS16iuQJpilTff,6Ur ~m.ffip; 

(D) IJ'~~s;rrfep; 

59. Which one of the following is/are correctly matched? 

(i) 6th August Nagasaki day 

(ii) 9th August Hiroshima day 

(A) 

(B) 

(C) 

~ 

(i) 

(ii) 

(A) 

(B) 

(C) 

(D) 

only (i) is correct 

only (ii) is correct 

both (i) and (ii) are correct 

neither (i) nor (ii) 

~s;wL..6 JblTB;61T£ ~QTUl 

~s;wL..9 ~C11rr6lLDrr ~miil 

(i) LDL@iil 5if} 

(ii) LDL@iil 5ifl 

(i) LDW©JtD (ii) 5ifl 

(i) LDWg)ltD (ii) {f,QJ{!)I 
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60. What will be the difference between simple and compound interest at 10% per annt!; on a 
sum of Rs. 1,000 after 4 years? 

(A) Rs. 32.10 i1f' Rs. 64.10 (C) Rs. 65.20 (D) Rs. 66.45 

61. 

62. 

63. 

®· 1.000 ~6Q>ITQT~ QJ(!!)~~lD@) 10% QJLli}- 65~P-,~Q) 4 QJ(!!)LP-,~!i>@) t5IJD@) ~mL.$@)tb ~Qf)QJLli}-Si@)tb. 
Si\.L@ QJL11t8i@)tb LQr61T CQJ!!)lUIT@ lUIT~? 

(A) ®· 32.10 (B) ®· 64.10 (C) ®· 65.20 (D) ® 66.45 

A can do certain job in 12 days. B is 60% more efficient than A How many days does 
B alone take to do the same job? 

(A) st days (B) Gt days (C) 9t days ,,,,7t days 

Vl® CQJQ>Q)QllU A 6f"QrUQJrT 12 p;rrl...s;Qfl~tb B 6f"QrUQJrT A-mlLI.$ a;rrl...li}-~tb 60% ~~a;LDrra; Gc!fu'..J~ 
QPlll-Liu rrrr 6fQftQ} B t0L.@tb ~Q.iCQJmQ)mlLI Gc!fu'..J~ QPlll-Liu~!DsrrQT p;rrl...a;m 

(C) 9t ,!Drrl...a;m (D) 7 t p;rrL.a;m 

The number which is 15% less than 240 is 

¢"' 204 (B) 206 (C) 203 (D) 205 

240-m 6'lilL 15% @)Q>jDQJITW 6r61iirr ~QT~ 

(A) 204 (B) 206 (C) 203 (D) 205 

The radii of two cones are in the ratio 2 : 1 their volumes are equal Find the ratio of their 
heights 

(A) 1 : 8 (C) 2 : 1 (D) 4: 1 

a;QT ~QT~a;m c!flDLOITB; LmQT @11•@ Si\.tb4a;61flQi 411ffiia;Qf!Qi Qil.$1~tb 2 : 1 ~QJJi>!!51Qi LlUl}'ffiia;QflQi 

6'lil .$1 p> Lb 

(A) 1: 8 (B) 1: 4 (C) 2 : l (D) 4: 1 

64. The odd man out in the following : 

1, 144, 16,25,49,81, 121,36, 65is 

SJ!( 65 (A) 1 (B) 49 (C) 121 

1, 144, 16, 2~. 49, 81, 121, 36, 65 6f"Qru~Q) Gurr®Ji;~rr~ '1"61iirr 

(A) 1 (B) 49 (C) 121 (D) 65 
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65. ~· The value of V8x8 x 27x3 x 64x3 is 

(A) 20x3 jJJI" 24x3 (C) 28x3 (D) 32x3 

V8x3 x 27x3 x 64x8 @m LD~u4 
(A) 20x8 (B) 24x3 (C) 28x8 (D) 32x3 

66. Simplify : 

5+ {9-(6 + 2-(3-2))} 

(A) 3 (B) 5 ,{1 -{D) 9 

Bi@).$®a; : 

5 + {9-(6+ 2-(3-2))} 

(A) 3 (B) 5 (C) 7 (D) 9 

67. A sum of money triples itself at 8% per annum over a certain time. Find the no. of years 

JI(( 25 years . (B) 20 years . 

(C) 30 years (D) 15 years 

~® ®r6lut51Lt_ ~S:Q)rTQT§J 8% QJL~ ~,,~~Q) ~~f[>f;f>QT 461iar@a;QflQ) ('.!j)Qrg)I LDLri.Ja;rr®Lb? 

(A) 25 ~•@a;m (B) 20 ~•@a;m 

(C) 30 ~•@a;m (D) 15 ~•@a;m 

68. Globalisation mainly signifies 

ijJ/" Economic integration 

(C) Social integration 

f2....Q)a;LDUJLDrr.$a;uuLQ> ~ff>mQT ~!!516tlI!)l~&1mw§J? 

(B) Political integration 

(D) All the above-

(A) Gurr®mrr,,rr11 ~®ri.J.$1mQ1STu4 (B) ~11.flUJro ~®ri.J.$1mQ1STu4 

(C) s:('.!Pa; ~®ri.J.$1mQ1STu4 (D) @mQI ~Q}QT~Lb 

69. First amendment to the fundamental rights for social reservation policies to the state was 
brought by 

(A) V. V. Subramaniya Iyer (B) Mahatma Gandhi 

(C) Dr. Muthulakshmi jJ1'I' Pandit Jawaharlal Nehru 

LDrr.!b1Q) s:e!Pa; @L ~§JUL.@.$ Qa;rrmma;uSIQ> ~~uumL f2....nlmt0uSIQ> @ff>ru s:L..L ~®~mff> Qa;rr61iar@ 
Qlp;,,Qlrr 
(A) 6bl.6bl. BiULSllJ"LD~UJ ffiUJrT 

(C) Lrr.$Lrr. QP~Q)L.$uSl 

25 

(B) 

(D) 

LDa;rr ~LDrr a;rrJi;~ 

u61ial"~f£> ~QJ~rTQ)rrQ) ap;(!!) 
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70. If the population of a village is 50,000, 40% of them are men, 20% of them are chilcmm and 

the rest are women. Then the number of women = 

(A) 10,000 ,, 20,000 (C) 30,000 (D) 40,000 

~® £111rLDUlm Lmm L.Og'1fG~rrQ>a; so.ooo. @f,lru 40% ~ma;m 20% ®~P>Q)~a;6Tr t.5~1..0 LmmQJrra;m 

Quma;m '1"aflm, Quma;'1flar '1"'1iBTQ8fl5Q>a; = 

(A) 10,000 (B) 20,000 

71. The value of 

~1+~1+~5+~14+~1+.J9 is 

(A) 3 (B) 2 

(A) 3 (B) 2 

72. The odd man out in the following : 

1, 125, 8, 216, 1000,343, 729, lOOis 

(A) 343 (B) 1 

(C) 30,000 

(C) J3 

~ 100 

l, 125, 8, 216, 1000, 343, 729, 100 '1"QrjD 6l.JiflQ>s:u5)Q> Qurr@fe~rr~ '1"m 

(D) 40,000 

(D) J2 

(D) J2 

(D) 8 

(A) 343 (B) 1 (C) 100 (D) 8 

73. If P = 9 then the value of P(P2 + 3P + 3) is equ~ 

(A) 9 (B) 99 'j/f' 999 (D) 9999 

P = 9 '1"Ei1flm P(P2 + 3P + 3) m LDf,luurrm§ 

(A) 9 (B) 99 (C) 999 (D) 9999 
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74. ~atch the following : 

(a) Parliamentary form of government 
(b) Presidential form of government 

(c) Collegiate form of government 
(d) Dictatorship form of government 

(a) (b) (c) (d) 

(A) 3 2 1 4 
(B) 4 3 2 1 

JlilJf' 2 4 1 3 
(D) 1 3 2 4 

£wQJ(!9QJQITQ.J.d>mJD Gurr®P>~c$ : 

(a) UITIJ"IT~LDQr!!) @61>!!) <:!9llJ"61Tri.Jc!Dtb 

(b) $liGf>Q)QJ n- QPGJ> !D <:!9l IJ" 6rrri.J c$ Lb 

(c) ®@ @Gf>!D <:!9llJ"61Tri.Jc!Dtb 

(d) 6rTQ.JIT~8ilTIJ" @Gf>!!) <:!9lfl61Tri.Jc!Dtb 

(a) (b) (c) (d) 

(A) 3 2 1 4 
(B) 4 3 2 1 
(C) 2 4 1 3 
(D) 1 3 2 4 

75. Who appoints the state election commissioner? 

(A) Chief Minister 

(B) President 

J!!!!f"' Governor 

(D) High Court Chief Judge 

LD rrJbl Q)P> a$lirT $liQ) ~Q)61RJTUJ IT61TQ) fl .i£l UJ LDQITl.b Qs:u.J UQJ rT 

(A) @fljQ>Q>to6s:rr 

(B) ®llt-lUIJ"Br~ fljQ>Q)QJrT 

(C) LDrr.!BIQ) ~~JlirT 

(D) LDrr.!BIQ) LUJrr,ffi~LDEiM!D >'l>Q)Q)Q)LD .ffi~u~ 

0 27 

1. 

2. 
3. 
4. 

1. 

2. 

3. 

4. 

Switzerland 

U.K. 

Germany 
USA 

~ L<'frTQ)ITJb~ 

©ri.J.ilQ>rrJI;~ 

Q~rrLDmJ 

<:!9l Q LD rfl MIT 
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76. Consider the following statements. 

Assertion (A) : Legislature is the law making body of the state. 

Reason (R) It is well accepted that the right to make laws should be vested only with 
the representative of the people. This is one of the features of democracy. 

Select your answer according to the coding scheme given below. 

(A) (A) and (R) both false 

(B) (A) is false (R) is true 

(C) (A) is true (R) is false 

Jlilf' (A) and (R) are true 

£~c$~L QJIT.$.$JUJri.Jc$68>6TT c$QJGfl'l . 

sn!i>ll)I (A) a:LL-Lb @UJW[l)l6\J~ a:LLiDm,!D~~m uQl8f!UJrr®Lb. 

c$1TIJEmlD (R) LDU6TTITL8luS'IQ>, LD.$c$~Q)LUJ i.S111~,ffil~c$C6TT B'LLLD @UJ!i>ll)IUQJrTc$61TTTc$ 
@@.$£ljDITrTc$Qr. @~ LD.$c$61TTTL8luS'lm 81,!Djii~ U~UIT®LD. 

"1fl UJ ITQT 6lSl Q) LQ) UJ ~ C$fi fr.lb Q $fi@. 

(A) (A) LD!i>[l)ILD (R) @IJ~@Lb p>QJ.(DITQTQ)Ql 

(B) (A) p>QJg)I (R) ILliliGTmLD 

(C) (A) L.Q)LDUJITQT~ (R) ~Ql,(DITQT~ 

(D) (A) LD!i>[l)ILD (R)@1J•@Lb L•mLD 

77. 7ocrates" mean's 
Rule of nature (B) Artificial Law 

(C) Legal Law (D) Production Law 

@UJ!i>68>c$QJIT~LD gQij!)rrQ> 

(A) @UJ!i>mc$uS'lm QSl~ (B) Ga:UJ!i>mc$ QSl~ 

(C) a:L...~~Qr QSl~ (D) LtDU~ QSl~ 

78. One of the objectives of Eleventh Five Year Plan is given below. Choose it correctly 
(A) To reduce the dropout rate in higher education 

r/#f' To reduce the dropout rate in primary schools or education 
(C) To reduce the dropout rate in teacher education 
(D) To reduce the dropout rate in secondary education 

u~CmrrlJrTQl~ mffi15rr•@ ~LL-~m uQ>CQJll)I CJ!>rruri.Jc$~6i'r V>m[l)I £Cw& Qc$rr@uuuL...@6i'rm~ . 
c:!>lp>mm~ Cp>rrJi;G$fi@.$c$QJLD a:nlUJrrc$. 

(A) LUJrT c$Q)QSluS'IQ) @mLJBl!i>,!DmQ) ®68>JD~~Q) 

(B) G151TL&c$6; a;Q)QSluS'IQ> @mL.@!i>JDmQ> ®68>.!D~Q) 

(C) 48liflUJrr c$Q>EilSluS'IQ> @mL.ffil!i>JDa>Q) ®mw~Q> 

(D) @mL~Q>Q)6; a;Q>QSluS'IQ>@mL~!i>.!DmG> ®a>JD~p>Q> 
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r ' 
79. --whlch sector is not included in the occupational pattern? 

(A) Primary Sector Jll/f"' Private Sector 

(C) Secondary Sector (D) Tertiary Sector 

Qp;rr~Q>a:rrfr QJQ>s; t.Slrfl6'>6l.J a:rrrrrrp; ~6'>!D 61'"~? 

(A) (lp)'!jQrQ>LDP, ~6'>!D 

(C) ~fTEilioTLrrLb ~6'>.(!) 

(B) p;~UJrrfr ~mjl) 

(D) a:rrfrLlP> ~Q'ljl) 

80. Which of the following journal was not founded by Periyar E . V.R.? 

(A) l{udiarasu 

(C) Viduthalai 

(B) Puratchi 

jJilf' Swarajya 

t.Sl6Gr6l.J@6l.JQT6l.JlD!!)lm-QurflUJrrfr E.V.R. Qp;rrLffils;rr~ u~rrl.$Q'ls; 61'"~? 

(A) . ®~UJfTc!1r (B) '-lrrL..61 

(C) 66l@p;Q'lru (D) c!JrUJfTrr~UJrr 

81. Find out the correct statement : 

0 

(i) C.V. Damodaram Pillai was author of The Tamil 1800 Years Age. 

(ii) Madras Dravidian Association was started in 1912. 

(iii) In 1917 the South Indian Liberal Federation was formed. 

(iv) Tamil Newspaper called Justice Supported the justice p8.l'tf. 

(A) (i) and (iii) right 

,,, (ii) right 

a:iflUJrrQT Qa:rriDGIDrrLQ'lfT s;Eiliorq6l& : 

(B) (iv) right 

(D) (iii) right 

(i) 

(ii) 

1800 ~Eilior@c$~.$® (lp6GT p;L.6l~c$Lb 6T"Qrjl) J911'61>ru 6T"~~UJ6l.Jfr 81.661. ~rrCLDrr~rrlb t.Slmmm. 

Q~Q>QT ~rrrr661Lfr B;~c$LD 1912-Q> ~QJ.$a;UULL~. 

(iii) 

(iv) 

(A) 

(C) 

1917-Q> Qp;EiGr~Ji;~UJ QP!DGurr.$@j Bil.LL61>LDUL.j IL@QJrr.$c$uuL.~. 

~uSlw Qa:ti1~p;rr61TITQT Pllw~w .£~.$c$L.6lmw 4~iflm. 

(i) LD!Dgiilb (iii) a:rflUJrrQT~ (B) (iv) LDL.@Lb a:rflUJrrQT~ 

(ii) LDL@Lb a:iflUJrrQT~ (D) (iii) LDL@Lb a:rflUJrrm~ 
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82. Arrange the events in chronological order : 

1. Chauri chaura incident 

2. Minto Morley reform 

3. Dandi March 

4. Cancellation of Bengal partition 

(A) 4, 3, 2, 1 

gJlf 2, 4, 1, 3 

(C) 1, 2, 3, 4 

(D) 2, l, 4, 3 

1. Gs:mfil Qs:61Tl}"rr .ffila;w681 

2. uSlQJCLIT lDITr'rQSl 6fr~(!!;;,f>LD 

3. f>6iartq.. UUJ'115TLD 

4. QJrf.Ja; t5lfil61Slm~ .ffi.$a;ili 

(A) 4, 3, 2, 1 

(B) 2, 4, 1, 3 

(C) l, 2, 3, 4 

(D) 2, 1, 4, 3 

83. When was changed the official name of the state from Madras to "Tamizhagam" or 
"Tamizhaga Arasu"? 

rJlf" 1967 April 16 

(C) 1965 April 16 

(A) 1967, 6JUIJru 16 

(C) 1965, 6JU1Jru 16 

TGS/16 30 

(B) 1968 April 14 

(D) 1966 April 15 

(B) 1968, 6JUIJru 14 

(D) 1966, 6JLIIJru 15 
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84. Mta tch the following 

(a) Prarthana Samaj 1. Sree N arayana Guru 
(b) Arya Samaj 2. Atmaram Pandurang 
(c) Dharma Paribalanayogam 3. Jyotiba Phule· 
(d) Satyashodhak Samaj 4. Swami Dayananda Saraswathi 

(a) (b) (c) (d) 

(A) 4 1 2 3 
(B) 4 3 2 1 

~2 4 1 3 
(D) 2 1 4 3 

Qurr@~~s; : 

(a) t.Sll}"JTrT~~QTJT 6LDJT~i.b 1. ~ J!)ITl}"JTlUQRIT ®@ 

(b) ~rfllU 6LDJT~i.b 2. ~~LDl}"rri.b urr611Gr@'lffil 

(c) ~rTLDUrflUJTQ)QT alUJTBii.b 3. a~rr~urr ~aQ) 

(d) ~~lUa6rr~.$ 6LDrr~i..O 4. a;QJJTuSl ftilUJTQT/B~ 61}"QuQJ~ 

(a) (b) (c) (d) 

(A) 4 1 2 3 
(B) 4 3 2 1 
(C) 2 4 1 3 
(D) 2 1 4 3 

85. Nadirshah invaded India in 

Jiii' 1739 AD (B) 1737 AD (C) 1735 AD 

p;rr~rr~rr .@fe~lUrr i..5~ umLGlLI@~ ~611Gr@ 

(A) £ .tSI. 1739 (B) £.t.Sl. 1737 (C) £.tSI. 1735 

86. Point out the wrong statement in the following : 

(1) Great Bath Mohenjo-daro 
(2) Excavation 1921 
(3) Wheel Pots 
(4) Terracotta Copper Plates 

(A) 1 (B) 2 (C) 3 

t5lmQJ@QJmQJJi>!))J6Tr ~QJ!!)JTQTQJJDm!D s;L_~.$ s;rrL_@ : 

(1) Gu@ffil®Qllb Gtnrra;<§~rra'lrr 

(2) ~a;wQJ rrl}"rrli..18:61 1921 
(3) 6.$s;l}"i.b LD61iGJ"U JT61iGJ"Li.b 

(4) Q Lrrl}"rra<'DITLLJT G6u4 u uL-LlUL.O· 

(A) 1 (B) 2 (C) 3 

0 31 

(D) 1731 AD 

(D) £ .tSI. 1731 

(D) 4 
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87. Find out the WRONG answer from the following. 

(A) Rule of Shahjahan was known as the Golden Age of the Mughuls 

(B) Shahjahan built Jumma Masjid with white marbles 

~ Jahangir built Taj Mahal 

(D) Peacock throne was made by Shahjahan 

88. Bahmani king Alauddin Bahman Shah was also called as 

~ HasanGangu 

(B) Muhamed Shah 

(C) Firoz Shah 

(D) Valishah 

. (A) ~~ a;ra;® 

(B) QPB;LD~ Q!jilT 

(C) L.Sla1Jrr~ Q!jirr 

(D) QJrrrols:rr 
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89. I:iow many minor and medium ports located in India? 

"" 187 
(C) 167 

(A) 187 

(C) 167 

(B) 177 

(D) 197 

(B) 177 

(D) 197 

90. The district which has the lowest density of population is 

~ Sivagangai (B) Nilgris 

(C) Ramnad (D) Madurai 

(A) fi}QJa;riJQ>a; 

(C) 11rrtbp;rrL. 

91. When will started State Industries Promotion Corporation of Tamil Nadu? 

(A) 1872 

(C) 1992 

{A) 1872 

(C) 1992 

33 

(B) 1982 

,I 1972 

(B) 1982 

(D) 1972 
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92. The world environmental day is celebrated on 

(A) July 1Qth (B) September 5th 

~June 5th (D) October 2nd 

tLQ)a;8: s;Ji>{!)IB=@;ij!6l> ~QJTLD Qa;rr61iGT"LrTLUU@QJ~ ~uCurr~? 

(A) ~~mQ)-10 (B) Ga:uLl.buir-5 

(C) ~~m-5 (D) ~.$C:Lrruir-2 

93. Which is called the "Power house of the cell"? 

(A) Nucleus (B) Chloroplast ,, Mitochondria (D) Ribosomes 

Qa:Q>~Q! 4Ji>JD6l> JBlmQ)UJLD ~muu@QJ~ 

(A) ~ l!J,"1'"1 UJW (B) us;ri.Ja;~a;Lb 

(C) Q>LDLCLJT a;rr611Gr~ UJ rr (D) m !]Cu rrCa:rrl.ba;m 

94. Consider the following statements. 

· Assertion (A) : Insectivorous plants are not able to synthesize proteins 

Reason (R) : Due to the deficiency of Nitrogen 

Select your answer according to the coding scheme given below. 

V'f Both (A) and (R) are true 

(B) (A) is true (R) is false 

(C) (A) is false (R) is true 

(D) Both (A) and (R) are false 

£~a;61iGTL QJrTd1UJri.Ja;mm a;QJ~. 

Bil..Ji>!OI (A) ~661 tL61iGT~Lb p;rrQJl}'ri.Ja;mrrru yrip;Lb p;UJrrifl.$a; QJ>~UJrr~ 

B;rTl}'Ql&TLD (R) : a>,ffiLl}'~Qr ®Q)JDUITLLrrru LllJ'piLD piUJrTiflM QJ>~UJ6'61rumQ) 

a:iflUJrrm 66lmLmUJ~ Cp;irp;Gp;@. 

(A) (A) LDJi>{!)ll.b (R) a:iflUJrTQJTQ)QJ 

(B) (A) a:ifl (R) pjQJ{!)I 

(C) (A) pjQJ{!)I (R) a:ifl 

(D) (A) LDJD{!)ILD (R) pjQJjDrT61JTQ>QJ 
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95. ·-~Illlberty is reached sperms are manufacturecl continuously in the two testes each day. 

Jilf" 125 million (B) 120 million 

(C) 130 million (D) 115 million 

bJ,LiGutiJ~UJ614LQr @®~.ffi~ a;11utSlc$6ITIWJLi:> ~® p;rrQlmBi® Q~rrLrr.ffi~ ~lb~ Ga=Q>c$m u..wu~~UJrr®Li:> 

<:!9161T614 

(A) 125 L.61Q>G\S1UJQirc$6Tr 

(C) 130 L.61Q>G\S1UJQirc$6Tr 

. (B) 120 L.61Q>rulUJQrc$6Tr 

(D) 115 L.61Q>ruJUJQirc$6Tr 

96. Consider the following statements with reference to ozone. 

(i) Ozone is found in Trophosphere. 

(ii) The most common ozone depleting substances are freon gases. 

(iii) Small amount of ozone is being made by the action of sunlight on oxygen. 

(iv) 'Ozone hole' is the real hole in the upper atmosphere. 

Which of the above statement is/are correct? 

(A) (i), (ii), (iii), (iv) are correct 

IJllf' (ii), (iii) are correct 

(C) (i), (ii), (iii) are correct 

(D) (iii) alone correct 

~~rrQir u!D!&UJ an!DmJD anrr.ffi~ ~uJc$. 

(i) ~aa:rrQir QJQflLD6WLru~Q> i.:..a11rraurrQ\.>tSlUJrr u®~uSlQ> c$rrasaruu@.il!D~· 

(ii) GU(!?LOUITWJLO c$rfQal"UU@Li:> ~aa:rrQir @jQ'lJ!)U4U Gurr(!?U6Tr o0oUiflUJITQr QJrflljMGITIT@jLO. 

(iii) ~B;~~Qi LE~ ~iflUJ vi6lfl Ga:UJQ>uL..@ Q~rrLrrJi;~ hl!&~mG\4 ~~rrQir SL!i>u~~UJrr.$1 Qc$rr~L 

ILGITGIT~ . 

(iv) ·~aa:rrQir Gurr~~Q)' t0rQru~ QJQflLD6WLru~~Qir GLDQ> c$rrasaruu@Li:> V!® SL6WQ>LDUJrrm Gurr~~Q> . 

GLD!i>c$6WLQJ!i>r61Q> tOT~ a:iflUJrrm an!Droi? 

(A) (i), (ii), (iii), (iv) <:!91Q>QT~~Li:> a:iftUJrrm~ 

(B) (ii), (iii) LDL..@GLD a:iflUJrrm~ 

(C) (i), (ii), (iii) a:iflUJrrm~ 

(D) (iii)LDL..@GLDa:iflUJrrm~ 
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97. Stem and leaf cutting insects are controlled by spraying • 
(A) Chloropriphos 

(B) Lindane 

(C) Malathion 

~ (B)and(C) 

(D) (B) LDWg)JLD (C) 

98. Which one of the following is a fungicide? 

(A) Zinc 

(B) Cobalt 

Jll1f Bordeaux mixture 

(D) Nitrogen 

(A) ilri.Ja; 

(B) aa;rrurrroL.. 
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99. .sider the following statements. 
Assertion (A) Anemometer is a device used for measuring rain fall. 
Reason (R) It has aluminium cups which turn on a spindle. 

Select your answer according to the coding scheme given below. 
(A) Both (A) and (R) are true and (R) is the correct explanation of (A) 

(B) Both (A) and (R) are true and (R) is not the correct explanation of (A) 
(C) (A) is true but (R) is false Y (A) is false but (R) is true. 

£w8i~L QJrr.S.$1UJri.Js;6Jlm- l:6QJ~. 

~~4 (A) 

8iITIJ~Tlb (R) : 6iW~W ~~@ ~Qr{l)ILQr ~~uSl~UJ .$l~Qm"ri.Ja;m .@Q'l61R!r.$a;uul...t.q.®.S@)lb. 

a:iflUJrrm ~6JlLQ'JUJp; a~rr.ffiG~@ . 

(A) (A) LDJD{l)IW (R) .@IJ~@lb a:ifl LDJD{l)IW (R) GrQru~ (A)6l5l!i>® a::iflUJrrm ~GTT.$s;lb 

(B) (A) LDW{l)IW (R) .@IJ~@lb a:ifl LDJD{l)IW (R) GrQrU~ (A)~!i>® c!fiflUJrrm ~m-.$s;lb ~Q)Q) 

(C) (A) a:ifl ~mrrru (R) ~QJ{l)l 

(D) (A) ~QJ{l)l ~mrrru (R) a::ifl 

100. Consider the following statements. 
Assertion (A) The energy spent in Magnetising a specimen is not recoverable and 

there occurs a loss of energy in the form of heat. 
Reason (R) During a cycle of magnetisation the molecular magnets in a specimen 

are oriented and reoriented a number of times. 
Select your answer according to the coding scheme given below. 
J,llf' Both (A) and (R) are true also (R) is the correct explanation for (A) 
(B) Both (A) and (R) are true also (R) is not the correct explanation for (A) 
(C) (A) is true but (R) is false 
(D) (A) is fal~e but (R) is true 

£w8i~L QJrr.S£UJri.Js;Q'lm- s;QJ~. 

~~4 (A) ~® Gurr@m s;rr.ffi~LDrrd;s;uu@lbaurr~ ~®lbuu Qu!DQPtq.UJrr~ QQ.Juu ~!D!Dru 
.@wu4 ~Ji>u@..tlJD~ · 

s;rrlJQm"W (R) s;rrfe~LDrrd;s; 6iJDJDlQraurr~ ~~~mGTT e!PQ).$8il.gii e;rrfe~ri.Js;m V>® ~Q'la:tuQ'JLDQ.j 
GuwQJ~W t..O~@lb aQJ{l)l~Q'JS::lUQ'JLDQ.j GuwQJ~W LJQ)(l:PQ'l,!D p;Q'JLGUi!)IQJ~ITru 

a::iflturrm ~6JlLQ'ltup; a~fr,(bQ~@ -

(A) (A) LDJD{l)IW (R) a:ifl LDJD{l)IW (R) ~m~ (A)~d>® a::iflUJrrm ~m-d;s;lb 

(B) (A) LDW{l)IW (R) a:ifl LDJD{l)IW (R) ~m~ (A)~!i>® a:rflturrm ~m-d;s;lb ~Q)Q) 

(C) (A) c!fifl ~mrrru (R) ~QJ{l)l 

(D) (A) ~QJ{l)l ~mrrru (R) a:ifl 
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Read the following instructions carefully before you begin to answer the questions. 

IMPORTANT INSTRUCTIONS 

1. This Booklet bas a cover (this page) which should not be opened till the invigilator gives signal to open 
it at the commencement of the examination. AB soon as the signal is received you should tear the right 
side of the booklet cover carefully to open the booklet. Then proceed to answer the questions. 

2. This Question Booklet contains 100 questions. Prior to attempting to answer the candidates are 
requested to check whether all the questions are there and ensure there are no blank pages in the 
question booklet. In case any defect in the Question Paper is noticed it shall be reported to the 
Invigilator within first 10 minutes. 

3. Answer all questions. All questions carry equal marks. 

4. You must write your Register Number in the space provided on the top right side of this page. Do not 
write anything else on the Question Booklet. 

5. You will also encode your Register Number, Subject Code, Question Booklet Sl. No. etc. with Blue or 
Black ink Ball point pen in the space provided on the side 2 of the Answer Sheet. If you do not encode 
properly or fail to encode the above information, your Answer Sheet will not be evaluated. 

6 . Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct 
response and mark in your Answer Sheet. In case you feel that there are more than one correct 
response, mark the response which you consider the best. In any case, choose ONLY ONE response for 
each question. Your total marks will depend on the number of correct responses marked by you in the 
Answer Sheet. 

7. In the Answer Sheet there are four circles @ ,@, © and@ against each question. To answer the 
questions you are to mark with Ball point pen ONLY ONE circle of your choice for each question. Select 
one response for each question in the Question Booklet and mark in the Answer Sheet. If you mark 
more than one answer for one question, the answer will be treated as wrong. e.g. If for any item, @ is 
the correct answer, you have to mark as follows : 

@•©@ 

8. You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take 
this Question Booklet and the Answer Sheet out of the Examination Hall during the examination. 
After the examination is concluded. you must hand over your Answer Sheet to the Invigilator. You are 
allowed to take the Question Booklet with you only after the Examination is over. 

9. The sheet before the last page of the Question Booklet can be used for Rough Work. 

10. Failure to comply with any of the above instructions will render you liable to such action or penalty as 
the Commission may decide at their discretion. 

11. In all matters and in cases of doubt, the English Version is final. 
12. Do not tick-mark or mark the answers in the Question Booklet. 
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